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B1. FOTFRFT L1 AOBE rect_average(i0, i1, jo, ji &, Hxbhi5i# io, i1, jo, j1 WL,
alil [§] (i0<i<it, J0<i<jl ) DRHEEZRHDBBHETHS. a &, FTu—/IVEEEENE double ZDRFTHD,
0 < i0 < i1 < SIZE, 0 < jO < j1 < SIZE LELT&V. 7/ I LBEL BT B K, M (2) ~ (g)
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#define SIZE 100 ##include <stdioh>
double a[SIZE|[SIZE]; int seq swaps(char * a, char = b) {
int k = 0;
double rect_average(int i0, int i1, int j0, int j1) { while(a[k] 1= *\0* && b[k] = *\0’
int i, j; && alk] <= blk]) {
int num = I (a) ; char v = afk];
double sum = | (b) I ; alk] = bik];
blk] = v;
for(i= m) i1 (d) s iH+) { K = 1;
for(j = |(e) 16 i) o }
sum += | (g) J ; return k;
} }
1 int main(void}{
return sum / nwm; char sl[} = "abroad";
} char s2[] = "cosmos";
int rl, r2;
\ TR77L1 ) rl= seq.swaps(sl, s2);
printf("%d %s %s\n", 11, s1, 52);
2= seq swaps(sl-t4, s24+3);
printf("%d %s %s\n", r2, sl, s2);
return 0;
}
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